Time: 40 Minutes Paper Math 3 Total Marks: 25

4th Month, 4th Week, 6th Day |Syllabus: Monthly Test

Q.1. Choose the correct option and fill in the blanks. (0.5%4=2)
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(i) What is the appropriate unit to determine the length of a needle?
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Kilometre /‘-’f;g (b) [Metre | (e) Centimetre %5 (d) |Millilitre ﬁd’
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(ii) How many millilitre water is saved after extracting 2000 m/ of water

N=

from 3500 m/ of water.
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@@| s00m/ |®)| 1000m/ || 15000m/ [@)]| 2000mI

(iii) What is standard unit of mass? ?ﬁ;“bﬁ.b’gd/.l,v{u’ L

(a) |Metre | (b) [Litre ﬁ (¢) [Kilometre /».3}{ (d) Kilogramr'/cg
(iv) What is the abbreviation of units of litre? S Yoy LY
(@) m/ (b) g () l (@) kg

(v) IfI had two cans of 800m/ juice, what would be the total quantity?
o .
Gene I iungtnl oz Adsoouie 2/

@@| 200m/ || 1000m/ || 800m/ || 1600mI

Q.2. Solve the following. (1.5%6=9) IS st
(i) 4m  65cm (ii) 21km 815m
+ Sm 12 cm + 17km 183 m

(iii) 85kg 245¢g (iv) 962 kg 220g
+ 10kg 134¢ + 36kg 750¢g
) 15/ 675m/ (i) 731  342ml/
+ 32/ 312ml/ + 23/ 610m/
Q.3. Solve the following. (1.5%6=9) IS L5t
(1) 51lm 86 cm (i1) 19km 345m
— 30m 75cm — 16km 231m
(iii) 97kg 850g (iv) 9kg 763¢g
- S53kg 340g - Tkg 250g
) 18/ 655m/ (i) 731 342 ml/
- 127 321m/ - 357 62lm/

Q.4. Sohail bought 15kg, 500g almond and 12kg, 250g pistachio. What was

the total mass? (5)
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